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Read the following passage to an:

When children d!\'l:ll:lp 'Ihﬂ'i,l,' mat)
simultancously fostering o whole host
skills, such as eritical thinking and 1 E
skill-set that take with them into formal e
research tells us thar any <kill and concept
leamer’s home language don’t need to be re-taught
they transfer to a second language. Language and m
tongue also play ahuge Tt:!l.tm'llltde.!.'e!umnmf ML 0]

social and culwral identity, Children with o strong .

foundation in their first language often display a deeper
U[:L‘L"T.‘”.ll’ll.hl]g of themselves and their place within Wﬁﬂl’-
along with anincreased sense of well-being and confidence.
MNaturally, this flows down into every aspect of their lives,
including their academic achievement. In all education the
primary place should be given to training in the exact and
free use of mother tongue. Mother tonguoe is the true vehicle
of mother wit. Another medium of speech may bring with it
a current of new ideas. But the mother tongue is one with
the air in which a man is born. It is through the vernacular
that new conceptions of the mind should press their way to
birth in speech. A man's native speech is almost like his
shadow, inseparable from his personality. In our way of
speech, we must , as the old saying runs, drink water outof
our own cistern, for each one of us is a member of a
community. It is through our vernacular, through our folk
speech that most of us anain the characteristic expression
of our nafure

31. A man's Indigenous speech is almost like his

{A) soul (B) shadow.
(C) |1|H.|'.'\. (D) mtnire

32, Through the vernacular, most human beings

asccomplish

frugmented expression
.

slIC EXPression

3. hL'uJ'{Iiuu1-.1hrulrlxu_l.illlh“L“"h”'-‘l"i{l‘ﬁnl‘“m"'r
out of our own
A) packet B) tavem
(C) cistern (D) box

In education, training in the free use of mother
longue should be given

A ¥
A AONGATY DIRCE 1"

(A) intention
{C1 pite
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(B) benevolence
(D) momse

Mark correctly the plural forms of the following words:

{0 no. 39-41)
39, corpus
(A) corpusses
(C) corpos
40. appendix
(A) sppendives
(C) appendicxcs

. cactus
(A) cactuss

(C) caciu

(B) corporm
(D} corpori

(B) appendices
(D) appendieces

(B) cacti

(D) cactis

Mark correctly the change in gender of the following

words: ((). no. 42-44)
41, prolecior

LA I_'-la.!'!-;'ill

) proteciress
41, gander

[ llh| FOOsE

22-YJE

(B) protectoress

(D) protectem

(B} heifer

(D) duchess
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SECTION—IT

Language-11—English
Mark correctly the appropriate form of verbs that fit
(A) doe (B) sow in the blanks: (Q. no. 51-53)
(©) filly (D) ewe 51, If1 a bird, I would fly,
correctly the synonyms of the following words: (A) am (B) was
46) (C) were (D} have been

m (B) rebellious
") mischicvons (D) ridiculous
46, abhor
(A) simplicity (B) boast
(C) abstract (D) detest

Read the following passage Lo answer ). nos, 47 to S0:
i The man who perperually hesitates which of the two
bumfl: he will do first, will do neither. The man who resolves
f:'i ?jngf'-" his resolution at the first counter- suggestion of
£ rn »who ﬂur_'u..lulu:: from opinion to opinion, from plan
o plan and veers like 2 weathercock to every point of the
(T p:l.'.-‘..lt: with :\'u,_}- breath of caprice that hlows, cannever
CCo mp_lltsh anything great or useful Whimsicality and
| lations are :Ihr: E‘-_cu.lr-ocl-:a on which the edifice of failure
cor _sm.:::tcdl. ."':ulhmg, warthy, nothing fruitful is bom out
@mind thatis like a ship without a racar, drifting aimlessly
e high ocean of life. It is anly the man who first consults
lhe:_: resolves firmly and then executes his purpose
inflexible perseverance, undismayed by those petty
gulties which daunt a weaker spirit, that can advance to
anence in any field. The course is to be taken wisely
armly. Once taken, it has to be pursued with heoric
ation. With indomitable spirit and unguestionable
glion (0 the purpose, one can conguer the universe.
'he course is to be taken with
wisdom and hesitation.
§) care and thoughtless action
bravery and whimsicality.
rﬂl‘.l'.llﬂfﬁ and wisdom.
the passage, an indecisive man is compared (o a

] rnet.
| wall clock. (B) H'.t.l.-'}rL i
\COMmpass. (D) weathercock.

m spirit and proper dedication, the universe

(B) lost

(D) hired

. advance to prominence in any field if one

hinks only.

ly resolves wisely.

|y plans to execute the
lves, consults and exe

purpose properly.

cutes properly.

52, He found the book he

(A) has lost (B) was lost
(C) hud lost (D) would have lost
53, Hardly had the girl writing, when the
teacher collected her answer script.,
{A) had Anished (B) have finished
(C) finished (D) finishes

Mark the correct spelling from the options given below:

(0. no, 54-56)
54, (B} asimillawe

(D) asimialate

{A) assimilate
(C) assimillate

55. (B) appalinng

I.D ] ;11:\"1:;';‘.“1_.',,

(A) apalling
(C) appalling

56, (A) rejuvinate {B) rejuvenate

(C) mijuvinate (D) rejuvencte

Mark correctly the part of the sentences which has an
error If the sentences are correct mark *D (No error):
”.\}l- i, 57T & SH:I
57. Samir has to  trudge over the
{A) {B)

steep mountain path,  No error,
("} )

5%, Treasure Island is one of the best pirate stories
(A} (B
No error,
(D)

that ever written.
(C)
Mark correctly the appropriate prepositions that fitin
the blanks: (Q. no, 39 & 60}
59, An application was written 1o the officer in
_ the instructions given.

purhll'.]'ﬂl.'l' =i 4
(AY By IH- ] '.'."l"ﬂll.
(C) for (D) of

60, The distance of the school _ the railwa)

station is two kilometres.

(A) over (B) trom
(C) on (D) 1o

( i_'u[ﬂq’]-*

23-YJE
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Child Development & Pedagogy

English Version
61. Learning Assessment is purposeful if
(A) it serves us a feedback for the students as well as
the teachers
(B) it is done only once at the end of the vear.
(C) comparative evaluations are made (o differentiale
the student’s achievements
(D) it induces fear and stress among the students

62. Which one of the following skills should be stressed
maore for mentally under-developed children?
(A Life skills (B) Adapiation skills
(C) Communication skills(D) Numerical skills

63. A teacher nlways helps the students so that they can
relate the knowledge acquired In one subject with
another subject. It helps in

(A individual difference

(B) leamner's independence

(Cy distribution of reinforcer

(D) correlate and transfer of knowledge

64. 1n teaching process student’s performance is
{(A) dependent variable (B) independent yiriable
(C) intervening variable (D) control variable

65. A collection of a student’s work in an area showing
growth, self reflection and achievement is known as
{A) assessment (B) judgement
(C) portfolio (D) cumulative record

66, Edocational Characteristics: Measuring devices:

{a) mchlevement (1) Examination
ib) learning (II) Assessment
fc) [nterest (I Interview
The matching pair ls—
{A) (a)(HI) (B} (b ()
(C} (e)dl) (D) (b)(I)

67. Inclusion of children with special needs
(A) is detrimental to children without disabilities.
{B) will increase the burden on schools,
(C) roquires a change in attitude, content and approach
0 leaching.
(D} is an unrealistic goal,

68, With reference to the gilted learners, ‘acceleration’

mieans

(A) accelerating the process of their assessment.

(B) accelerating the transaction of their scholastic
BChvilies

C) promoting them to the next higher grade earlier
than normal learners
ipeeding up their co-scholastic activities.

4-YJE

Bengali Version
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() i o (B) =G ™
(C) =g o (D) fFrofie wn

65, ey = = e wre aal E e I e
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1]
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(C) oz (D) EEghe =
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Child Development & Pedagogy

English Version

69. Four MCQ questions 1, 11, 11 & IV are correctly
answered by 05%, 20%, 50% and 85% of students
respectively. Other things remaining same the best

question is
(A 1 (B) 1
(Cy M m v

0. Sufficient number of guestions are set on the same
concept in a test. The test is
(A} achievement type (B) diagnostic type
(C) prognostic type (D} criterion referenced type

71. Stages of developments are important for a teacher to
{i) produce a comfortable environment for teaching
and learning process
{ii) kmow and understand the problems faced by a child
(iiiy establish an effective communication with the child
Which set (A, B, C, D) of the sbove statements is
suitable for effective teaching?
(A) only (i) (B) only (i}
{C) Both (i) and (iii) (D) ik, (1) and {1}

72. Though calculator gives the result of multiplication
easily, we teach children to calculate manually to:
{A) maintain tradition of teaching
(B) wverify the result of multiplication
(C) develop creativity
(D) develop thinking & reasomng

93 The stages of SE as per SE teaching-learning model are
f) Evaluation (i) Exploration

j) Elaboration {iv) Explanation

| Engagement
‘The correct sequence of the stages is

| (i) (i), (iii), (ov), (v) (B) (i), (amx), (i), (1v), (¥)
00 (v). (i), (iv), (i) (1) (D) (v, (iv), (i), (1id), (1)

fhe cephalocaudal principle of development
splains how development proceeds from

) differentiated to integrated functions

) head to toe

pqural to urban areas

Seneral to specific functions

E

fer is a/an
plogical construct(B) innate quality
construct (D) biological entity

25-YJE
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69. 1, 11, 111 &= 1V % 5% MCQ warea e == Su0m
wEwT TR T TR 05, 20, 50 2 85 wApe

T wTETE wrATER el T
(A) 1 (B) I
(C) I (D IV

70, @l wimm av vy are o e I WA
(A) e =i (B) fdfipe wer

() wdremmEe ware (e T

(D) ==

71, Fremey waufh oww e T8 oW

(i) Fme o Frere TR TR T CETETE W

(i) < Fra v TRy TOUR FYNA B T WA € (TR W

{ii) o v Srded COTCEI VS SR
gt e T 30 ouE o1 (A, B, C, D) srfedt
fpwarra w) Bemrm iy
(A) S (i)
(C) (i) (iii) 558 (oY (i), (i

(B) 5= (1)

2 (1)

72, T UE SEEE WS TEEE T T, TR Carv e
wrE-SNrR 08 ek T
(A e STED e
(B). OlTa TR T,
(C) !-,%'-.'5.'3* wia Tewmne

(D) fm < e e

73, SE Frsrem SE Fr-feerem waant
(i) T=m= (Evaluation) {ii} =rE=s (Exploration)
(iii) #==Fm29 (Elaboration)
{v) Fmuf@ (Engagement)
wanfim =fis wom =

(iv) == (Explanation)

(A (1), (nnd, (), G, (w) (B 1), (i}, (1), (o), (%)

(Cy (vl (v, fim (1) DY Owd, (aw), (m), (i) (1)

74, &= cephalocandal TE TR 193 wEeE

(A Bfs e e

o FAE =
(B) el (4T RS WigEE T

e e e e

(C) 491

(D) Terae o Rem anfEde e
Faal
75. fomew a2
(A) *TETFTEE MR B) ¢ 9°
(C) ArafEs wad D) Sreies wiEy /s
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English Version

To. In the context of education, socialization means
(A) adapting and adjusting to social environment.
(B) always following social norms.
(C) creating one’s own social norms.
(D) respecting elders in society.

77. Teaching of Geography and History of Murshidabad
may be meaningful, quick and interesting if
vonducted together by an approach of
(A) play way (B) correlation

(C) induction (D) story telling
7%, A child knows 442=6 hut not 4=6-2, The child may
be in the siage
(A} Sensorimotor (B) Preoperation
(C} Concrete operation (D) Formal operation

79. By the word “individual™ Woodworth has referred to
(A) human body
(B) human mind
(C) human behaviowr
(D) both mental process and physical behaviour

80. Which of these does not imply practical intelligence
in the Triarchic theory?
" {A) Re-shaping the environment
(B} Thinking practically about oneself only
(C) Choosing an environment in which you can succeed
{3} Adapting to the environment

Bl. “Right to Education Act 2009" has its main objective
to ensure each child in India 6 to 14 years receives
quality education. The term quality education means
{A) Use of costly TLM
(B) Rote learning
{C) Establishment of relation between classroom and
real environment
(D) Imposed discipline

82. Questionnaire refers to
{A) a device for securing answers to questions by using a
form which the respondent fills in himself,

(B) adevice for collecting questions from many individuals,

(C) a device for collecting response from class-work.

(D) a device for developing various questions,

83. According to social constructivist theory of Ley
Vvgotsky, which of the following methods is
appropriate for assessing students?

(A) Standardised tests

(B) Fact-based recall questions

(C) Objective multiple-choice type questions
(D) Collaborative projects

Bengali Version
v Tﬁﬂ fCar mr.ﬂlj:h':tﬁc e
(G 5T
:ZE?J Eﬁmffg ‘:T'-c:‘-: 1 =4
. mgﬂ“;ﬂﬁmﬁmﬁﬂ% =T 6

FHATEAIE

e orgm Semi 2
(A) comfefEe (B) e L
(C) EIETE & (D) & 3=

78. a3 fm wR 4+2=6, 8 A 4=6-21 fafz
frepm T

cfETaa v [EmelmEeE
{A} 4 ERI‘ il ¥ J
(Sensorimotor) [Preopcmuun_:-

(C) =5 T (D) TiE WA

(Concrete operation) (Formal operation)

79, Twewd “individual” sy v FFeTETE

(A) e

(B) ==

(C) Wi wmsarrs

(D) WP o ¢ el wnee Terre
80. ¥ Triarchic v == =gz 1% ers Frafofe oo
fenfs gme
(A) *TCRTE o SRR eT
(B) TETANTENE 0013 SANE =Y
(C) @ «fRar i 795 @ o <l e =
(D) =firarm o= wim mem
81. “frety wivem wikH-2009" 6 (40w 14 752 iy wg
ferem w1 e wmE avw e foere evs 3z
TR iy SeandE T i
(A) T . oW, 4097 T
(B) vy fom
(C) e AT T T ofETEE wre e
o :
(D) % cram wape
82, empong v
(A) < 7Y (TR S o o e T e S o
(B) s 2 CYITR ek MIERes o cxan et ey, o 23
(C) < g 7w w1 ot e (i Bz e vt
(D) il TH 9% 9 ﬁ%ﬁ oY T T ¥y 3 W

(B) =rrfefes TR e
(G p—
(D) eairenmms vey
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\Cockroach is not bird’. Starting a lesson on bird
with such negative example was discouraged by

{@\] Bruner (R) Piaget
;{E} Skinner (D) Binet

S, Which one of the following characteristics is not
related to organization of co-curricular activities in

school?

Educationally relevant

Democratic atmosphere

(B) Constructive
(D) Non co-operation

36. Some statements about children:
{i) Children are passive recipients of knowledge
{ii) Children are problem solvers
(i) Children are interested in sclentific investigation
{iv) Children are active explorers of the environment
Which set of the above statements is correct?
LAY (L), (id) and (iv) (B) (), (i), (iit) and (iv)
(C) (i), (i) and (i) (D) (i), (ii) and (iv)

g

87. According to Chomsky, an innate capacity to acquire
language is the result of our uniquely human
biological inheritance, which is called

(A) Language Adapiation Degree

(B) Language Acquisition Device

(C) Language Acceptance Desire

(D) Language Acquire Domain

E. Which one of the following is best suited for
emotional development of children?

{A) Democratic classroom environment

{B) No involvement of the teachers as it is the task of

the parenis

{C) Controlled classroom environment

D) Authoritarian classropm environment

I the case of learning Law of Readiness corresponds to
) schema (B) maotivation
) stimulus

()} response

..,' dent modifies an essay in the book and then

ves it. This is a process of—
Adoption (B) Organization

ilation D) Accommodation

SECTION—III
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84, Wﬂrﬁw‘ﬂmﬂﬁaﬁﬂamwﬁum
mmmmmﬁmﬁmm

(A) T2 (B) foramet
(C) famm (D) fA

85, RWTeTY FEAIEN AFTY INET firgfefue carafb
HeTHTEaY ¢

(A) T apifEe (B) RS
(C) i o (D) SHETAIE

86, Frml s Tl B e
(i) Frem wrm g arv=
(if) Frean T FETR
(i) forayan FrmmoTTe WO S E
iv) T siferarem =
friien oo Bfpafem wog oW oBf fwe
(B (1), (ii), (1if) &= (iv)
(DY (i), (i) &3 (1v)

(A (i), (aii) 992 (iv)
(C) (i), (i) &2t (iii)

/7. BaEa wre sriEE oRE e a2 v wwe =
T W B TpE BEERE, aTF A
(A) W EpEeE e
(B) symore wgRfees Euis
gy

(C) ST WAy AT
(D) ST S T

}
B8, Frfefes com gl T wreas Femm v e 1
WITH A

(A) ceafraTSa fEiEe A i

(B) crEE o Form-amers e wi esey cee g o) g b

(C) Tl eferrs «fmm

2 i {

(D qeferres Taamsta] offimes 19

5
.

89, feree cwra ergfen WEha A A ed T
(A) B (B) cemst

(C) Bl (D} =t

90, awew fwill T-g7 TowTE Feg «fffwds ¥R g =W
g% efewf @a— i
(A) HIFE9== By =i
(Adophion) (Organization
(C) =i (D) S TEE=A
(Assimilatnon) ( Accommodation)
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91. Simplify:
FEE G40 ]
5 T GO, TN R 1R BT o e W R e
9% g m"m_a“#'w’i{s;!é*iﬁ_ﬂ"iii Jo. 1
1.1 8.9 ‘,.1.+.‘3',.;‘5'J'L1_° 1 % 91
L979 10710 979 10710 5 10 9 i1aJ\10 %
(A O (B) % <y 1 () 2

92, In a triangle ABC, AB=AC=20 cm. ZBAC = 30",
‘What will be the area of the triangle?
(A) 200 sg. cm. (B) 150 sq. cm.
(C) 100 sq. cm. (D) 50 sq. cm.

93, ABC frsre AB=AC=20 Gifi1 LZBAC =30"1 frewliz

(B) 150 3fAR
(D) 50 A

93, {l*ljxl!'l'l!ll'l.}-l{l-2]:1.‘1-1}::'[1'1}4-{1*3}[1-3}{1'3}-3!{1'11“{1'1]!({1'3]=

(A) (0-5pe(1:141:241 3 [(1-1-1-2+(1-2-1-3)+(1:3-1-1F]
(C) fD-ﬁ]x{l-l-i-l-E—]-Aﬁxlr]-I—|-3'|:+1I-E—I-i}"+fl-3—|-l}‘l
94. OF the three different numbers, the product of two

numbers taken at a time in order are 42, 84 and 72
respectively. What is the L.C.M, of the numbers?

{A) 84 (B) 724
(C) 420 (D) 504
1+ (0.1)%(0.11)
95, A 0.1 = 3 Ew o
5,3 . 3 _ "2x(AD+0li+]
0.1 "o (0 )= (01T}
0.1 0.l

(A) 557033+3 (B) 56+066+3

96. 2 men and 3 boys can do :: of a plece of work in
6 days; 3 men and 5 boys can do ;—3 of it in 4 days.
In what time can a boy do the whale work?
(A) 12 days
(B} 24 days
(C) 36 days
(D) 48 days

97. Simplify:
e FEA 1
f1-1\f1,5_ 1 Bty 11 i U | TR
{9*1|”0+l1'£}+.[_1l +£J(Ll.-u)+£+?} 13
S L 120 1

911 1" 13"

(A) O (B) 6

(B) %n{I-I+I-‘2+l-3}:{{I-l+1-2}:+{l-2+l-3f+{]-34'1'i:

D) L x(11-12+ 11112541213 +(1 311

o4, Fal fom wvwrr Ty 4 3= A o9 =R ofF
wetmry 42, 84 @ 72 70| Ay feafbr mome vy

(A) B4 (B) 724
(C) 420 (D) 504

011

0.11 (D
) 03+0.66+3

©) FE+033+3

96. 2 wa wdars E 6 3 o AE o 9= =TEE

3wt 6 firs wovim 03; 3 W opefaes il @ 5w
19

TS GF FET w4 e 5oy 272, S35 A

TE AN 9% e HHE S §
(A) 12
(B) 24 W=
(C) 36 W=
(D) 48 s

() 4 (DY 2
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98. There are two sections in a class ol a co-educational
school. The no. of students in each section is35. 107
girl students of section A go Lo section B, the number
of girl students in these two sections are

. interchanged. 1f 4 girl students of section B go to
: section A, the number of girl students of section A

changes to double of the actual number of girl
students of section B, The num

ber of boys of section
A and B are respectively
(A) 18,11 (B) 24,17
(™ 17.24 (D) 18.27

99. AB and CD are two chords intersecting at X of a

circle with centre O. Then

(A} AX.XB=CX.XD

(By AX.XD=CX.XB

iC) AB CD=AX.XDP

(D) CX.XB=AB.CD
100, Answering all questions +A’ gets 32. For a correct
answer he has been mnﬁnl&marksmﬂhlsmirks
has been deducted by 2 pumber for each Wrong
answer. Again if he has been awarded 4 marks per
wmﬂimmmdheﬂdﬂﬂ:d 1 mark per wrong
answer, he gets 28, How many questions are there
in the examination?
[A) 14
(c) 16

(B) 10
(D) 12

5.25(5.25% 5,28 3.17x1.58) + 3.17(3.

(A) 1

102, 1213 and 1231 are two numbers,

(A) First number is prime and the second is composite

(B) First number is composite and the second is prime
(C) Both the numbers are composite.
(D) Both the numbers are prime.

103, ABC is a triangle. AP is perpendicular to BC, BQ is

perpendicular to CA. CR Is perpendicular to AB.
AP, BQ and CR cuts at 0. ZBAC = 40°, then £ZBOC
=]
(A) 80 (B) 140°
(C) 1IWF (D) 40°
104. Simplify:
e .
3>y 3. 2.2.3.3.3.3 1 2 3\ (3
(33,3, 2,2,2,3,3,3. Y2 2433
Fi 41 3 X=X 33 =2 X X<+
U o fe O Sab el el F mlx!q FERCRRTE
{3+3_3] 13,3,2.2 3
$731%5 N T Tk e W
(A) 1647 B 1633
98420 (B) 93430
29-YJE

Bengali Version
9g, qalh FefmsTETe e gfb carfer®
RB-gfefre wasdl e 35|
RRemI TR A A S Bﬁ:ﬂﬂ!mﬁmuﬂmmm
o | W T B freTrsm 45 €A A frerest T, BT
Aﬁiﬁwijﬁﬂmnfmﬁ?qvﬁﬁmmﬁm Eufl

wie

EMAYS
ofe A fEmmR 7 @ wrat,

s ASB GreTpeR WEAE T
(A) 18,11 By 24,1
(Cy 17,24 D} 18;2

wTEE A

(A AX . XB=CX.XD

(B) AX.XD=CX.XB

(C) AB.CD=AX.XD

(D) CX.XB=AB.CD
*A‘Mﬂhmmmzsvﬁﬁmazﬂwaa
ﬁ&ﬁhmﬂsmmﬂmmwﬁfﬂﬁam
ﬂzmmmmmwﬁzﬁ

% fre Teram o0 4
mmmmmarﬁm‘wmw 1 THE W Re

W, T AN pfiey ~rge TH 28 etirmty cAls TR AT
L2 1

(A) 14
(C) 16

100.

(B) 10
(D), 12

25 17x3.17 - 1.58 x 5.25) +1,58(1.58x1,58 - 525x 3.17)
5.25(5.25 - 3.17)+ J17(3.

17 - 1.58) + 1.58(1.58 -

5.25)
(C) 10

102, 1213 @t 1231 7% ween)

(A)- S afbe aea ahfire e« i

(B) =ty w4 2o difare aae = il

(C) A A% ¢

(D) e 9% clfE |

(DY 9

¥
- nGic-a

103. ABC fiErem AP, BC 7@ Bsm 79| BQ, CA-u7 TR
9| CR, AB~£% To #4) AP, BQ ¢ CR *7=’ O
famre cuw wA0E| ZBAC = 40° ww ZBOC =98¢
(A) 80 (B) 140
(C) 110° (D) 40

\

3

¥,

(C) l‘hif Dy 1033
08320 1 GRA20
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S R L s

100 " 1000~ 10000 ~ 100000

(B) 111111-11111 (C) 11110101111
106. t l} L 11 A 1 1

0 e oo o) (-

29 9 ;
| (A 1210000+3%1000+3100+1 (B) 1x10000+3x100+3x10+1 A
, Ty Ix1000+1=100+3=10+1

[ &
(D) 1%1000+3x10+3x100+] :
'. 107. 101001.01011= P

A} 100000+ 10000 +1 4 mmboms + rokes 4 =iz
| 1 1 -r!-i-“[“: i +Im

\ ! R
e e s 11000 + 100000
, (€) 156000 " 10000 100

108. A sweeper is appointed in a condition that he will

| 105. 100000410000+ 1000+ 100+10+1 *%ﬁ :

\ (A) 11111111111 (D) 101111-01101

) e 1S
1000~ 100
] AL
g i — 00+ 1
rovaa0 oo t1ea 1+ 00000

A
(B) IM+|BM+1+’W+

(D)

vs and *C’ can do the same in 30 days. They
i:rg:'t; do the work in Rs. 5,400 and they start th.e
work together. But ‘B’ leaves the wu:'k before 2 days
of the completion of the work and ‘C’ leaves the wn:rk.
before 5 days of the completion of the work. hiﬁ
completes the remaining work. What amount

A" pet for the work?
iAJgHr-.l?[HJ (B) Rs. 5,400
(C) Rs. 1.600 (D) Rs, 3,600

30-YJE

mﬁmmmmumm 5,400 BTam =T
mmmmmwﬁ ws ww | g 0 07
wemm 2w wst B’ e was o gewR § e E
‘C‘wmﬁmmmﬁmwmmﬁ-rﬁf
s TR U ‘AT T DT A

(A) 2,700 57 (B) 5,400 b

(C) 1,600 B (D) 3,600 07!

(Contd.)

108. svs W < pore fe W o, o i O I
recelve wages of Rs. 50 per day for his work, but If m.mﬁrﬂaﬁmmmmlﬁlmﬂwm
he will absent, he will not recelve any Wages and wﬂwmmﬂqgﬂmmmmmmm
will be fined Rs. 10 for that day. After 30 days 1e s g a1 30 i 8 G1 1140 Bt comn| o s
has received Rs. 1140, How many days was he T A
e . (A) 95 @B) 50
(A) 9 days (B} 5days o 45 Dy 6%

(C) 4 days (D) 6days
109, mammbetwnxandﬂs 290 km, At9 am 109, X &m Y- T 270 Py | e 9T A, X T YR
o ‘A’ starts from X towards ¥ and ‘B’ starts from Y s e B, Y (4 X7 firs oE oF 3 ufi A o

.- towards X. The speed of A and B are 50 km in an B-a7 wFET TS W 50 B g wilirn 40 Tl
hour and 40 km in an hour respectively. When shall o, T TR T AL A \
they meet each other? (A) Yo 110 (B) %@ 125
(A) 11 am. (B) 12 noon () %@ 1% (D) P T
(C) 1| pm. (D) 2pm 2

110, Simplify:
T 1
mg,q._ms._g,xq_usa gxqﬂgin_ﬂﬂ—mxﬂ.aﬁxﬂ.m+310.M_!_x£ﬂ“+4!l}.m_n“.ﬂﬂ
S0 088- 4009 = QOBR~00B8-15 G900 0B8 + 520099
(A) 0.099 (B) D.0B8 (Cy 0.99 (D) 088
ey (B2 3‘_?-3’.’. £ (0.1)+(0.2)+(03) ’
oay] (3. 0.3
Eﬁ'“",l' LH “) L_&.L_— s
111 C o ¢ e, - I
U 1 _03)
[H-ulj [25 0.2 | [15 L] ) : 8 o
0.3 )=
(A) 0.1 {B) 0.2 ©) 25
o AY VBT a O TR e nareTs 20 fim, 24 e e
Ilz- ‘A'Eaﬂﬂl}ﬂ piemﬂfﬁﬂrklﬂzﬂduyﬁ-. H Clﬂlﬂﬂillﬂ 111. A.. B -] c ‘lﬁ'
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113. A person starts from A at 6 am, towards B and
reaches at B on 10 am. Another person starts from
B at 8 am. towards A and reaches at A on 11-30 am.
When shall they meet each other?
(A) 745 am. (B) 826 am.
() 8-56 am, (D) 840 am,

114. ‘A’ can do a piece of work in 12 days and ‘B can do
it in 18 days. They started the work together but *A’
left 3 days before the completion of work. ‘B’ finishes

the remaining work. The total number of days to
complete the work is
(A B By 9
<) 6 (D) 3
115, Find the sum of the following expressions:
SrTea ACTRIRIT CTITR ¥ ¢

y R T L 10 TIPSOk T W I ey i (o B R
E"Ti*‘s*i’i‘hi"i]'ls“a ot W
611 27
A Too (B) ETi)
116. The numbers T*82, 83*9, 147 are divisible by 9.
* marked numbers respectively will be
(A) 2,3.5 (B) 4,2,8
(C) 0,5,2 (D) 1.7.6

117. 2,3,5,7,11,13,17,19, 23,19, 31, 37, 41, 43, 47, 53,
59, 61, 67, 71, 73,79, B3, 87, 89, 97 are 26 numbers,
{A) Here all the numbers are prime,
(B} Here all the numbers are prime except one.
(C) Here all the numbers are prime except two,
{D} Here all the numbers are prime excepi three,

118, The perimeters of a reclangle and a square are
B0 em each. The difference of areas of square and

rectangle is 100 sq. cm. The sides of the rectangle
are

(A) 35¢cm. 5em
(C} 30cm, 10 cm
119. Simplify:

AW TN |

(B) 32cm, Bem
(D) 28 c¢cm, 12 &m

Bengali Version

113, @wew corre smmw 60TW, A g (T B wee SoRT
e T e 1000 B-c2 cHMaren | ww s i e
85T B g 4T A Wi Soween Aem o T 1101
30 ffite® A e o | ST W Aol WA
(A) o 701 45 T, (B) 7@ K1 26 ‘-

(C) wum K51 56 i, (D) e K01 40 fl,

114, afd wrw A, 12 e e ‘B, 18 filts oo T “0TA |
Fre o ol om wra, fag el o wonm 3
Wit ‘A" W qury vow ure | e wrel® (B o A
sy wrefd o Trs we fim wera e

(A) & {B) 9
(C) 6 (D) 3

] g3 5 2 3.3 58

EL[E“E*E“E*E“E‘E“E

23
(C) 30 o 1
116. T*82, 83%9, 147* meariafin 9 wre fere e, © ffes

Aot v T
(A) 2,3.5 (B) 4,2,8
(C) 0,9,2 (D) 1,7,6

117. 2,3, 5,7,11,13, 17,19, 23, 29, 31, 37, 41, 43, 47, 53,
89,61, 67, 71,73, 79, B3, 87, B9, 97 a%=1 26 1% wvaire
(A) e e
(B) o=l 2w waafle chiem
(C) 7 T 7aalE cifrs |
(D) ot o el it

118, o= wiwereraz o 3frwres ererafa il 8o o
afTwtEs coTwe ¢ WVErsTH owanTeE sl 100
Al | wnrere T arfi e
(A) 35Af, 5 offm (B) 32M. 8 i
(C) 30, 10 = (D) 28GR, 12

0 P gt UBRIE - L1 s e o WY (s o B 1 10 o LD 0 e s
,{5”5*5"?*?"?J__{'r":'*?”;*_gig_] (3”3‘3“5"5“5]
1 a1 1] f1 TY1 1 T
'.(3'5)(?'3) (3'5){5'7} ls'#}{z"})
| 6]
(A) 105 (B) 0 (C) 108 (D) 1
120. (7-001=1)(7-001+3)(7-001=-2)(7-001-6)+96=
(A) (7 01=3NT7-001+2){(7-001)+3x7-001+6] (B) (7-001-5)(T-00142){(7-001)*-3x7-001-6}
(C) (7-001+5)(7-001+2){(7-001)-3x7-001-6) (D) (7-001-5)(7-001-2){(7-001Y-3x7-001-6)
JI-YJE (Contd.)
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121. :r'l'l'.'.' medicinal forest belonging to Khasi-Jayantias 121 e R IE R LU SR to] f&ﬂﬁﬁﬁiﬂﬁ'm
in Meghalaya is in (A) crEieifere (B) TEEHAL-L
(A) Cherrapuniji (B) Moflong (€) Ft-e (D) TEFRd
(Cy Shillong (D) Haflong

122. Talking during eating may sometimes lead food 122, wewr =W Fdl T, e FCA| A e

particles to enter into the windpipe. There isaflap- wrAIeTe e el gaft vrfm 708 e WCE T
shaped structure that prevents food particles from AT W @ T ez GATE A o T
entering the windpipe and lungs. This flap like o TR s wedl 2
structure is called (A) o (B) 4l
(A) Tongue (B) Epiglottis (C) s (D)
(C) Pharynx (D} Glouis
123. S.L system of units has 123, S.L. &fErE G 4T T
(A} three base units and one supplementary unit. (a) Tt oo g O Jr 7R G|
B) five base units and one supplementary unit. (B) I qF 4T 4T gl HEEE G |
(C) seven base units and two supplementary units. (C) Azl g 4w 4T o A 4TS
(D seven base units and seven supplementary units. (D) el 7 A LT wrsl Ao g |

124. Shmgramﬂmdmnthgrmnmr'snﬂhhmhmm 124, cEm Comm TR (1 5T AL o s wEted €

spmn-shnped.ﬁhzisrmlly worried. This condition oo | o Bt fofge | 4% Y &t corE wE ATAT
may result from: (A) == (B) SR

(A) Cholera (B) Anacmia (C) oF (Dy S

(C) Fever (D) Malaria

125. Whm“ﬂ#tmmmﬂmwmwﬂkshfmehﬂp 125. it YR AT caeiry 1 Tt e a9 efem WA

of Spring Balance at & iSa
(A) Pole (B) 45 Latitude (&) E“t“ (B) 45 ;-ﬁr\f.‘“
(C) 45° Longitude (D) Equator (C) 45° wfeane (D) Frgaraem

126. Which of the following is the valid reason for Solar 126, ¥ EreR ¥ s e Facn =)

Eclipse?

(A) Pg:.rth between Sun and Moon (AY R QU 7708 B HRHSIA|

(B) Sun between Earth and Moon (B) i 4= b & offerEr WRMTH |

(C) Moon between Sun and Earth (C) Bm <irm 7l o offEs TR |

(D) In any condition no three are SamMe line (D) CorR wET T G AR Y A

127. Which metal remains liguid in room temperature? 127, WTEA TN TE TS (W TG 7

(A) Sodium (B) Magnesium
A) CrfEwm -
(C) Mercury (D) Lithium (A) (B) FMCHPAHN
(C) #rm™ (D) i

128. Which of the following diseases is caused dueto the 128, Fwffee @ o A TE B st Rt o

poisoning of mercury present in soil? .
(A) Itai-itai disease (B) Minamata disease
(C) Dyslexia (D) Albinism (A) B TR (B) Twm! 3t
(C) femmism (D) =wifE
32-YJE (Contd.)
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129. The distance between Earth and Moon is about 129, e cores Srov Ay e
(A) three lakh kilometer (A) fem #rs Rermfior
(B) four lakh kilometer (B) 514 5% Brrefatia
(C) five lakh kilometer (C) <5 7% Reremfibm
(D) six lakh kilometer (D) = w7 faafibra

i

130. Enzymes are secreted from different glands of the
digestive system to aid in the digestion of food. Which
of the following enzymes is secreted by the intestinal
gland?

(A) Erepsin (B) Chymotrypsin
(C) Pryalin (D) Pepsin

131. Which of the following would you cite as an example

of ex-situ conservation being a teacher of

Environmental Studies?
(A) oo (B) National Park
(C) Sanctuary (D) Biosphere Reserve

132. What is most desirable way to control soil pollution
and as well as maintain fertility?
(A) Application of Chemical fertilizer
(B) To keep land fallow for a few years
(C) To apply compost and organic manure
(D) *Jhum' cultivation where ashes from trees make
the soil very fertile

133, Galaxy is actually
(A) the transitional day between Krishnapaksha and
Shuklapaksha.
(B} the seasonal boundaries,
(C) the effects of rotation,

(D) an assembly of a lot of star-worlds including solar
SYSlem.

134, Chandraketugarh (now ruins) was formed on
{A) the Ichamati basin

(B) the Churni basin
(C) the Jalongi basin
(D) the Bidyadhari basin

135. Why did Afsana Khatoon receive the presidential
felicitations on Ma y 14, 20097
(A) She discarded her own child/juvenile marriage by
protesting publicly,
(B) She protested against unlawful child labour,
(C) She saved a juvenile eirl from being antacked by

Y goons,

. (D) She got a sexual molester arrested by the police,
136. One of the diseases caused due to air-pollution is
(A) Silicosis (B) Minamatg

(C) Blackfoot (D) Encephalitis

33-YJE

130, 4 “ffoe T T (Afe o ffew ofy o
Berme wie o Feffie @ Sarnels wifes ofy
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137. Which salt is used in Mid-day Meal?
(A) NaCl (B) KCl ‘

(<) MgCl, (D) CaCl

138. Soil washed away by running water is called

(A) B':eguli.til'. (B) Soil profile
(T EBluviation (D) Muviation

139, Asateacher of Environmental Studies, which of the
following physiological processes would you cite as
an example of catabolism?

(A) Respiration (B) Nutrition
(C) Photosynthesis (D) Growth

140, Given other circumstances constant, the relation
between the level of underground water and rainfall
is
(A) simple/fregular
(C) proportionate

(B) opposite
(D) inversely related

' | 141. The disorder of eye in which distant ohjects appear
/ blurry but near vision is normal, is called

: {A) Myopia (B} Hypermetropia
V/ (C) Cataracl

(D} Presbyopia
142. Jan 26, 1950 is celebrated as the Republic Day
because on that day
(A) India got her freedom as a separate country.
(B) India and Pakistan were treated as two separaie
couniries.
(C) Indian Constitution was granted as the country’s
own law sysiem. _
(D) Jawaharlal Nehru became the first Prime Minister
of India.

143. Among the following which one is the best conductor

of electricity?
(A) Ag (B) Au
(C) Zn (D) Cu

144. One liquid non-metal is
(A) Mercury
(C) Carbon

(B) Bromine
(D) Sulphur
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145, Different parts of plants are used to prepare
medicines. As for example, reserpine is used to
reduce high blood pressure. Reserpine is obtained
from the roots of which of the following plants?
(A) Datura (B} Tobacco

(C) Ranvolfia (D) Coffee

146. The river Ganga is known as river Hugli at
{(A) the confluence of Damodar and Bhagirathi.
(B) the confluence of Rupnarayan and Bhagirathi.
(C) the confluence of Haldi and Bhagirathi.
(D) the confluence of Ajay and Bhagirathi.

147. As a teacher of Environmental Studies, you have
shuwnmtp’ummufthlfdluwlnglnhnahm;mur
students. In the list, which of the following animals

is not an invertebrate?
(A) Sycon (B Jellyfish
(C) Cuttle fish (D) Shark

148. Rita taught her students about tuberculosis, The
causal organism of this disease enters the human
body through lungs. Which of the following is the
causil organism of tuberculosis?

(A) Salmonella (B} Mycobacterium
(C) Fungi (D) Clostridiim

149. It takes more time to cook meals on a hill station.
The reason is due to
{A) less humidity
(B) low pressure
(C) cooking is difficult at high altitude
(D) low temperature

150. Why on hills than on plain tennis balls bounce
higher?
(A) Less weight of the ball
{B) Nature of surface not plane
(C) Less gravitational pull
(D) Atmospheric state changes continuously
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